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a, Write a generic rate law for the reaction

b. From the information given can any of the three reaction orders (z
eliminated as a possibility? Explain.

cannot solve this problem with the information given, but if ¢
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10. (10pts) Consider the reaction: 2HaS + SOxp = 3 S + 2H0p

A reaction mixture initially contains 0.500 M HaS and 0.500 M 8Oz, When
reached 0.011 M Hz0 is present.

A second reaction mixture at the same temperature initially contains [HaS
[SOxp] = 0.325 M. What is the concentration of HaO at equilibrium of th



) Write the equilibrium of the weak base NaHSO: dissolved in w2

13. (10pts) What is the pH of a buffer solution made by dissolving 3.6 g
1.00 L of water. Note Kb of [NH:] = 1.7 x10%.

a. Wiﬁﬂnp}lufthesuhzﬁnnofﬁmLufﬂ.ZMH



. .
What is the pH of the previous solution?

b. If we add Ca*" to a solution with a pH = 9.3. The concentration of Ca™

a precipitate form?



15. (10pts) Malonic acid (H2C3H204 or HaMal for sh

ort) is a weak diprotic acid wi

Ra2 =2.0x10". It is a naturally occurring acid found in many fruits.

Malonic acid has two protons which can contribute to the pH of a

assumption be made to simplify the determination of the pH? Expl
why it is valid?

b. What is the pH of a 1.75 M solution of Malonic Acid?

If disodium malate (NazMal) is added to the solution above W
e

decrease, or stay the same? Bpla
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17. (12pts) Copper dissolves in nitric acid, does platinum?

NO;3(aq + Pty + Cliag — PtCli¥ g + NO2y ;‘

2. Balance the above redox reaction:

p. Calculate

the Sﬂﬂdﬂd Edﬂﬂﬁﬂn

potential for this reactio



Pt (s)

[Fe2]
[Fed+] .

b. On the diagram above label the anode, cathode, sign for each electrod
electron flow,

. What is E"cell for this reaction?
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it is bombarded with a sing
Caughter atom. Write the balance

21. (28 ppts) 450 mL of unknown solution are found. pH paper shows it to basic. A

ioliowing guestions regarding this original solution
2 Jo find the concentration of the solution should it be ttrated with 0.50
H-COs7? Explain your choice

b. The equivalence point is found after adding 152 mL of Acid. What
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f Draw a titration curve lustrating

point.
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